Kansas Corporation Commission OIL & GAS CONSERVATION DIVISION

ORIGINAL

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #	API No. 15 - 15-065-23263-0000
Name: Vincent Oil Corporation	County: Graham
Address:155 N. Market, Suite 700	SE -SE -NE - Sec. 30 Twp. 7 S. R. 22 ☐ East ▼ West
City/State/Zip: Wichita, Kansas 67202	feet from S / (N)(circle one) Line of Section
Purchaser: Semcrude, L.P.	feet from (E) W (circle one) Line of Section
Operator Contact Person: Rick Hiebsch	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 262-3573	(circle one) (NE) SE NW SW
Contractor: Name: WW Drilling , LLC	Lease Name: Webb Well #: 1-30
License: 33575 COMPIDENTIAL	Field Name: wildcat
Wellsite Geologist: Jim Hall	Producing Formation: L.K.C.
Designate Type of Completion:	Elevation: Ground: 2253 Kelly Bushing: 2258
New Well Re-Entry Workover	Total Depth: 3900 Plug Back Total Depth: 3780 ft.
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 1903
Operator:	feet depth to surface w/ 310 sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan A1+ TA NH 123 &F (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	
Plug BackPlug Back Total Depth	ornariae content ppm Traid volume bus
Commingled Docket No.	Dewatering method used evaporation
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
Other (SWD of Eliffi.:)	Lease Name: License No.:
.12-17-06	Quarter Sec TwpS. R East _ West
Recompletion Date Bate Reached 1D Completion Date Recompletion Date	County: Docket No.:
•	
Kansas 67202, within 120 days of the spud date, recompletion, worko Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wel	y and the state of
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	ulate the oil and gas industry have been fully complied with and the statements
$\mathcal{L}(\mathcal{A})$	
Signature: Whate Vy. publication	KCC Office Use ONLY
Title: President Date: 3-8-07	Letter of Confidentiality Received
Subscribed and sworn to before me this 8th day of March	If Denied, Yes Date:
20_07	Wireline Log Received
	Geologist Report Received RECEIVED
Notary Public: Yolanda Eulank YOLANDA EUBANK	S UIC Distribution MAR 0 9 2007
Date Commission Expires: NOTARY PUBLIC STATE OF KANSAS	
My Appt. Exp. 10-9-80	KCC WICHITA

Operator Name: Vii	ಾ ncent Oil Corporation	1	Lease Name:	Webb		_ Well #: 1-30)
Sec. 30 Twp. 7			County: Graha	ım			
tested, time tool ope temperature, fluid re-	n and closed, flowing covery, and flow rates	nd base of formations po gand shut-in pressures, s if gas to surface test, a inal geological well site r	whether shut-in pro long with final cha	essure reached	static level, hydro	static pressur	es, bottom hole
Drill Stem Tests Take		✓ Yes ☐ No	Σſ	.og Formati	on (Top), Depth a	nd Datum	✓ Sample
Samples Sent to Ge	ological Survey	✓ Yes ☐ No	Nam	ne .		Тор	Datum
Cores Taken Electric Log Run (Submit Copy)		☐ Yes ☑ No ☑ Yes ☐ No	See	attached shee	t et e		
List All E. Logs Run:							
•	sated Porosity Cement Bond	, Dual Induction,					
		CASING Report all strings set-c		ew 🔲 Used ermediate, produc	tion, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12 1/4 in.	8 5/8 in.	23#	209 ft.	common	165	2% gel, 3% cc
Production	7 7/8 in.	4 1/2 in.	10.5#	3896 ft.	ASC	165	2% gel, 10% salt
		ADDITIONAL	CEMENTING / SQ	JEEZE RECORE)		
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks Used		Type and P	ercent Additives	3
Protect Casing Plug Back TD							
Plug Off Zone		Nii 8 10 10 10 10 10 10 10 10 10 10 10 10 10					
Shots Per Foot		ON RECORD - Bridge Plug Footage of Each Interval Per			cture, Shot, Cement		rd Depth
4	3850 to 3851 ft. (A	buckle - non-commerica	l) CIBP at 3780 ft.	150 gals. 15%	MCA		perfs.
4	3653 to 3657 ft.			500 gals. 15% MCA perfs.			perfs.
4	3566 to 3569 ft. and	d 3561 to 3564 ft.		750 gals. 12%	HCI & 3% HF		perfs.
TUBING RECORD	Size 2 3/8 in.	Set At 3765 ft. r	Packer At none	Liner Run	Yes 🗸 No		
Date of First, Resumer March 2, 2007	d Production, SWD or E	nhr. Producing Met	nod Flowin	g 📝 Pumpi	ng Gas Lif	t] Oth	er (Explain)
Estimated Production	Oil	Bbls. Gas	Mcf Wat			ias-Oil Ratio	Gravity
Per 24 Hours	75 METHOD OF 0	none		10 Production Inter	nyal .		39
Disposition of Gas	METHOD OF C	_	754 7.	•			
Vented Sold (If vented, Su	Used on Lease ubmit ACO-18.)	Open Hole		Dually Comp.	Commingled		

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

************* * INVOICE *

* * *

Invoice Number: 105989

Invoice Date: 12/20/06

Sold Vincent Oil Corp. To: 155 N. Market,

To: 155 N. Marke Suite #700 Wichita, KS

67202

KCC mar 0 8 2007 CONFIDENTIAL

Cust I.D....: Vinc

P.O. Number..: Webb 1-30 P.O. Date...: 12/20/06

Due Date.: 01/19/07 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	165.00	SKS	12.2000	2013.00	Т
Gel	3.00	SKS	16.6500	49.95	T
Chloride	6.00	SKS	46.6000	279.60	T
Handling	174.00	SKS	1.9000	330.60	\mathbf{E}
Mileage	80.00	MILE	15.6600	1252.80	E
174 sks @>09 pe					
Surface	1.00	JOB	815.0000	815.00	Ε
Mileage pmp trk	80.00	MILE	6.0000	480.00	E
					-
All Prices Are Ne	t, Payable 30 Days Fol	llowing Sub	total:	5220.95	
Date of Invoice.	1 1/2% Charged Thereaf	ter. Tax	:	130.02	
	T take Discount of		ments:	0.00	
	in 30 days from Invoid		al:	5350.97	*
· ·	•			(522.09)	7
, yes. s	•			4828.8	8

WEBB #1-30 DRILLING REPORT

Page 2 of 2

12-28-06

Drilling at 3554 ft.

DST #1 - 3485 to 3535 ft. (L-KC A & B)

30", 60", 45", 75"

1st open: SOB/14"

2nd open: SOB/18" 75 ft. of Gas In Pipe 50 ft. of Oil (Gravity 32)

180' of Oil/Water Cut Mud (10% Oil, 10% Wt, 80% Mud)

335; of Mud Cut Water (70% Wt, 30% Mud) (Cl 62,000 Mud 1,500)

34# - 149# IFP:

FFP: 151# - 238#

900# ISIP:

FSIP: 895#

12-29-06

Drilling at 3663 ft.

DST #2 - 3596 to 3663 ft (L-KC H, I & J)

30", 60", 45", 75"

1st open: Strong Blow of Bottom in 14" 2nd open: Strong Blow of Bottom in 7"

370' of Gas in Pipe 190' of Oil (Gravity 39)

210' of Gas Cut Oily Mud (16% Gas, 34% Oil, 50% Mud) 55' Gas Cut & Oil Cut Mud (20% Gas, 20% Oil, 60% Mud)

28# - 110# IFP: 1302# ISIP:

108# - 170# FFP:

FSIP: 1282#

BHT: 107 Degrees

12-30-06

Drilled to 3700 ft.

DST #3 - 3660 ft. to 3700 ft (L-KC K & L)

45", 60", 40", 45"

1st open: weak 1½ in blow

2nd open: no blow, flushed tool, no help

Rec'd: 5' of free oil (27 degree)

60' of oil cut mud (20% Oil, 80% Mud)

19# - 31# IFP: ISIP: 1048#

FFP: 35# - 48# 657#

FSIP:

BHT: 103 degrees

Drilling to RTD of 3900 ft. Ran electric log.

12-31-06

Ran new 4½ 10.5# production casing and set at 3896 ft. Cemented with 165 sacks of ASC

cement with 2% gel, 10% salt. Released rig.

The L.K.C. 'J' zone covered by DST #2 appears to have good commercial potential. This is the primary producing zone in other wells in the area, especially on our Morphew leases to the SE. Also we will look at the Arbuckle since the well is structurally very high with shows. The Arbuckle was not tested but the log shows potential. We expect to begin completion within 2 weeks.

WEBB #1-30 DRILLING INFORMATION

2240' FNL & 360' FEL

Sec. 30-7S-22W Graham County, KS Vincent Oil Corporation Fabricius East Prospect

OPERATOR:

Vincent Oil Corporation

MUD PROPERTIES

Vis. Wt. W.L.

3535'

CONTRACTOR: WW Drilling Rig #4

56 9

5491 6.8

ELEVATION:

2253 ft. G.L.- 2258 K.B.

STRAIGHT HOLE SURVEY

Depth Degree .89 210' .66 3200'

GEOLOGIST:

Jim Hall

.25

REFERENCE WELL: Burch Exploration Inc.

#1 Davis SW SW NE Sec. 30-7S-22W

Anhydrite 1870 (+388) -20 1870 (+388) -20	
Base Anhydrite 1901 (+357) -22 1903 (+357) -24	
Topeka 3254 (-996) +4 3253 (-995) +3	
Heebner 3455 (-1197) +1 3455 (-1197) +1	
Toronto 3479 (-1221) +5 3480 (-1222) +4	
L-KC 3494 (-1236) +6 3497 (-1239) +3	
B.K.C. 3690 (-1432) +3 3690 (-1432) +3	
Arbuckle 3840 (-1582) NP 3841 (-1583)	
RTD/LTD 3900 (-1642) 3902 (-1644)	
12-16-06 MIRT.	
Drilled 12 ¼ in. surface hole to 209 ft. Ran 5 jts. of new 8 5/8 in. 23# surface and set at 209 ft. Cemented with 165 sacks of common, 3% cc, 2% gel. Ce circulate. Plug down at 8:30 pm.	ce casing ment did
12-18-06 Drilling at 400 ft.	
12-19-06 Drilling at 2290 ft.	
Drilled to 3200 ft. Shut down for Christmas Holiday.	•
12-27-06 Drilling at 3480 ft.	_

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

************* * INVOICE * * ********

Invoice Number: 106112

Invoice Date: 12/31/06

Sold Vincent Oil Corp.
To: 155 N. Market,
Suite #700

Suite #700 Wichita, KS 67202 KCC MAR U 8 2007 CONFIDENTIAL

Cust I.D....: Vinc

P.O. Number..: Webb 1-30 P.O. Date...: 12/31/06

Due Date.: 01/30/07 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Gel	3.00	SKS	16.6500	49.95	T
ASC	190.00	SKS	13.1000	2489.00	T
Salt	18.00	SKS	19.2000	345.60	T
WFR-2	500.00	GAL	1.0000	500.00	T
Handling	211.00	SKS	1.9000	400.90	\mathbf{E}
Mileage	80.00	MILE	18.9900	1519.20	E
211 sks @.09 pe					
Prod. String	1.00	JOB	1610.0000	1610.00	E
Mileage pmp trk	80.00	MILE	6.0000	480.00	\mathbf{E}
Rubber Plug	1.00	EACH	55.0000	55.00	T
Guide Shoe	1.00	EACH	125.0000	125.00	\mathbf{T}
AFU Insert	1.00	EACH	215.0000	215.00	T
Centralizers	6.00	EACH	45.0000	270.00	${f T}$
Basket	1.00	EACH	130.0000	130.00	T
Port Collar	1.00	EACH	1600.0000	1600.00	T
<i>√</i>					
All Driggs Are Ne	t, Payable 30 Days Fo	ollowing Sub	total:	9789.65	
All Pilces Ale Ne	l 1/2% Charged There	<u> </u>	:	320.77	
Date of invoice.	T 1/20 Charged incred	ALCCI. IUM		3 - 0 - 1	

All Prices Are Net, Payable 30 Days Following Subtotal: 978
Date of Invoice. 1 1/2% Charged Thereafter. Tax....: 32
If Account CURRENT take Discount of 978.96 Payments: Total...: 1013

320.77 0.00 10110.42

(978.96)

9131.46

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 106338

Invoice Date: 01/31/07

Sold Vincent Oil Corp.

To: 1

155 N. Market, Suite #700 Wichita, KS

67202

KCC
MAR 0 8 2007
CONFIDENTIAL

Cust I.D....: Vinc

Total...:

P.O. Number..: Webb 1-30 P.O. Date...: 01/31/07

Due Date.: 03/02/07 Terms...: Net 30

ONLY if paid within 30 days from Invoice Date

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	186.00	SKS	12.2000	2269.20	Т
Pozmix	124.00	SKS	6.1000	756.40	\mathbf{T}
Gel	16.00	SKS	16.6500	266.40	${f T}$
FloSeal	78.00	LBS	2.0000	156.00	T
Handling	477.00	SKS	1.9000	906.30	E
Mileage	80.00	MILE	42.9300	3434.40	. E
477 sks @.09 pe:	r sk per mi				
Port Collar	1.00	JOB	955.0000	955.00	\mathbf{E}
Mileage pmp trk	80.00	MILE	6.0000	480.00	E
All Prices Are Net	t, Payable 30 Days F	ollowing Sub	total:	9223.70	
Date of Invoice	l 1/2% Charged There		:	191.36	
	I take Discount of		ments:	0.00	
AL ACCOUNT CORREN.	t care biscourt or	<u> </u>	- 7	0415 06	

849z.69

9415.06

ALLIED CEMENTING CO., INC. 24488

A 2. W		
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:	
· ·	DAKIN ES	
	CALLED OUT ON LOCATION JOB START JOB FINISH	
Webb	CONTINUE	
	1 City 4N- Rdu Gizham 125	
OLD OR (NEW (Circle one) 2 11 L	125 612	
CONTRACTOR WYW, 154	OWNER SAME	
TYPE OF JOB Sucsace		
HOLE SIZE 12"4 TD 2.10 CASING SIZE 6518 DEPTH 2081	CEMENT	
	AMOUNT ORDERED 65 (cm	
TUBING SIZE DEPTH DRILL PIPE DEPTH	39occ 29ccel	
DRILL PIPE DEPTH TOOL DEPTH		
PRES. MAX MINIMUM	COMMON_ 165 @12 ²⁰ 2013 65	
MEAS. LINE SHOE JOINT	POZMIX	
CEMENT LEFT IN CSG. \S'	GEL 3 @ 16 55 49 95	
PERFS.	CHLORIDE 6 @ 4660 279 50	
DISPLACEMENT (2.2 Bg)	ASC@	
EQUIPMENT		
PUMPTRUCK CEMENTER 10274		
# (C) A HELPER Think	@	
BULK TRUCK #_ うつつ DRIVER A(い、 ~		
BULK TRUCK	@	
# DRIVER	@ <u>00</u> 60	
	MILEAGE 1094557 mile 1352	
REMARKS:		
Scinent stid sinculate	TOTAL 3925 95	
- Comerce Disp. Strength	SERVICE	
	<u> </u>	
30 6 10 m = 1-19 @ 8.30ph		
Thanks Fuzzy+	PUMP TRUCK CHARGE \$15	
Ciew	EXTRA FOOTAGE @ G G G G G G G G G G G G G G G G G G	
	MILEAGE 80 @6 430 4	
	MANIFOLD	
	<u> </u>	
CHARGE TO: U. week Oil Co	90	
STREET	TOTAL 1295	060
	MANIFOLD @ @ @ @ TOTAL \295 PLUG & FLOAT EQUIPMENT	3/6
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT	
•		
	@	
	@	
To Allied Cementing Co., Inc.		
You are hereby requested to rent cementing equipment		RECEIVED
and furnish cementer and helper to assist owner or		KANSAS CORPORATION COMMISSION
contractor to do work as is listed. The above work was		11011 0 7 2000
done to satisfaction and supervision of owner agent or	TOTAL	NOV 0 7 2008
contractor. I have read & understand the "TERMS AND	TAX	
CONDITIONS" listed on the reverse side.		CONSERVATION DIVISION
	TOTAL CHARGE	WICHITA, KS
	DISCOUNT IF PAID IN 30 DAYS	
111 1.		
SIGNATURE PAR TIGHT		

PRINTED NAME

NOV. O. ZUUN 1Z: ZNYM LIEU CEMENTING CO., No. 3599 P. 5

33472

and the state of t		. * *	
REMIT TO, P.O. BOX 34	SER	VICE POINT:	
*- RUSSELL, KANSAS 67665	* *	Pussell	
DATE 13-31-06 30 TWP 7 RANGE 22	CALLED OVER	<u> </u>	
DATE 12-31-06 30 7 22	CALLED OUT ON LOCATION	JOB START JOB FINISH	
كالأماما الأماما	14		
OLD OR NEW (Circle one)	TY SN dE	COUNTY STATE CRAHAM KAKSAS	
OLD ON META(Chicle offe)	115 4E 35 44	<i>)</i>	
CONTRACTOR W-W Day, P. #6	_ OWNER	· ,	
TYPE OF JOB PRODUCTION STRING	OWILL	· · · · · · · · · · · · · · · · · · ·	
HOLE SIZE 1/19 T.B. 43900	CEMENT		•
CASING SIZE 43 DEPTH 3896	AMOUNT ORDERED 190	SKAS. 25 GeL	
TUBING SIZE DEPTH DRILL PIPE DEPTH	10% Sa	LT	
TOOL AFU TASSET DEPTH 3800	SOO GAL WER-2		
PRES. MAX 1200# MINIMUM 100%	COMMON		
MEAS. LINE SHOE YOUT - 17	COMMONPOZMIX		
CEMENT LEFT IN CSG. 17	GEL 3	_@	
PERFS.	CHLORIDE	@	
DISPLACEMENT 634Bac	ASC 190	@ 13.10 248900	
EQUIPMENT		@	
	<u>sat</u> 18	@ 1929 34560	
PUMP TRUCK CEMENTER CAREAU	WFD-7 500 CALS	_@	
BULK TRUCK	- NOTES		
	<u> </u>	@	
BULK TRUCK BULK TRUCK		@	
# DRIVER		@	
	HANDLING 81	@ 190 A0090	
REMARKS:	MILEAGE 180	<u>1214 55</u>	
		TOTAL , 5304,65	
PORT College on # 49 IT. (1903)			
[FDAT]	SERVIO	CIE	
hand Ding @ 1200# - HELD	DEPTH OF JOB	\	
	PUMP TRUCK CHARGE	111000	
	EXTRA FOOTAGE	@ 	
IS SKE RATHOLE	MILEAGE 80	@ <u>7</u> 00	
THANK'S	MANIFOLD	@	001120
		@	LINFINGATIA
\mathcal{A}_{i}		.@	CONFIDENTIA
CHARGE TO: VIACENT (IL CORPORAT	oy	·· ••	2000
STREET	•	TOTAL 2090 😂	4-4-4
CITYSTATE ZIP			
GITSTATEZIF	PLUG & FLOAT	EQUIPMENT	
	(45) RURSER Plug	502	
Service Control of the Control of th	Prine Shoe	@ _12500	
(wten)	AFU INSEAT	@ 255000	
To Allied Cementing Co., Inc.	1-6-Cent	e 45° 270°	
You are hereby requested to rent cementing equipment	1 - B SK	@	
and furnish cementer and helper to assist owner or	J-POPT COILOR	@	
contractor to do work as is listed. The above work was			RECEIVED
done to satisfaction and supervision of owner agent or		TOTAL 2395	KANSAS CORPORATION COMMIS
contractor. I have read & understand the "TERMS AND	TAX		
CONDITIONS" listed on the reverse side.			NOV 0 7 2008
	TOTAL CHARGE		**** * FOOD
	DISCOUNT	IF PAID IN 30 DAYS	CONSERVATION DIVISION
1// 1-#			WICHITA, KS
SIGNATURE KNIM STAND		· .x.	
	PRINTEI	NAME	

ALLIED CEMENTING CO., INC. 252

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT:
OAKLEY

•		
1-25- 06 SEC. TWP. RANGE DATE 33 75 22ω	CALLED OUT ON LOCATION JOB START JOB FINISH	
1235 44	COUNTY STATE	
LEASE WELL# /-30 LOCATION H	FILCHY SW-ZE-125 GRAHAM KS	
OLD OR (VEW)(Circle one)		
// 0 // //		
CONTRACTOR H-D DEFEILD SERVE	OWNER SAME	
TYPE OF JOB YOR T CO/AR HOLE SIZE TD.	CEMENT	
HOLE SIZE T.D. CASING SIZE #/2' DEPTH	AMOUNT ORDERED	
TUBING SIZE 278" DEPTH 30/0		
DRILL PIPE DEPTH	USED 310 SIS 60/40 mg 666EL /4 F/6-JEA/	
TOOL YOUT COMPA DEPTH 1902	7 70 70	
PRES. MAX MINIMUM	COMMON 1865K5 @ 12-2 2269 26	
MEAS. LINE SHOE JOINT	POZMIX 124 SKS @ 6 756 40	
CEMENT LEFT IN CSG. PERFS.	GEL 16 565 @ 16 65 266 46 CHLORIDE @	•
DISPLACEMENT	ASC@	
EQUIPMENT		
EQUI MENT	@	-
PUMP TRUCK CEMENTER 7 EMY	- F/0-SEA1 78 @ 2 2 156 8	_
# 42 HELPER WAYNE	@	
BULK TRUCK		
# 2/8 DRIVER LONNIE		
BULK TRUCK		
# 315 DRIVER BARKEN	— HANDLING 47755 @ 120 - GOL 32	
	MILEAGE 94 PER SK/M=18 3434 40	
REMARKS:	TOTAL _ 77887	
TURN OIL OUT OF Hole. Pull up		•
YOUT COLLAR, PRESSURE SYSTEM TO 1000 H		
BPEN PORT COLLAR MEX 310 SKS GO/40)	_ :-	
Close bolt Collar, thessue system to		•
PSI, KON 10 TG REVERSE DUT.	ACC PUMP TRUCK CHARGE 955 C	•
	MILEAGE 80 MZ @ 6 - 480 -	
	MANIFOLD @	
THANK YO	e	
		00.
CHARGE TO: UTNCENT OIL	@L	
STREET		CUNFIDENTIAL
CITY OTATE TIE	in the second se	
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT	3-2-0C
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT	3-8-09
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT	3-8-09
CITYSTATEZIP		3-8-09
		3-8-09
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipme		3-8-09
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipme and furnish cementer and helper to assist owner or	@	3-8-09
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipme and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work were contractor to do work as is listed.	ent @	3-8-09
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipme and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work when to satisfaction and supervision of owner agent	ent @	3-8-09
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipme and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work work to satisfaction and supervision of owner agent contractor. I have read & understand the "TERMS A	ent @	RECEIVED KANSAS CORPORATION COMMISSION
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipme and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work when to satisfaction and supervision of owner agent	ent @e was or AND TAX	3-8-09
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipme and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work work to satisfaction and supervision of owner agent contractor. I have read & understand the "TERMS A	ent @	RECEIVED KANSAS CORPORATION COMMISSION NOV 0 7 2008
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipme and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work work to satisfaction and supervision of owner agent contractor. I have read & understand the "TERMS A	ent @e was or AND TAX	RECEIVED KANSAS CORPORATION COMMISSION NOV 0 7 2008 CONSERVATION DIVISION
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipme and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work work to satisfaction and supervision of owner agent contractor. I have read & understand the "TERMS A	ent @	RECEIVED KANSAS CORPORATION COMMISSION NOV 0 7 2008